DIMENSIONAL DRAWING: ET1590L

PROJECTED CAPACITIVE MODEL

358
EDGE OF TOUCHSCREEN
129 M4 THREAD,
a = MAX SCREW DEPTH = 7MM
2.2 FOAM SEAL (ALL AROUND) R10, X4 35.6 FROM MOUNTING SURFACES, X8
| [
7 | B X Z A
| ! 91.4
— —— 305.1 ACTIVE AREA
E i
17.8, X2 —= & A
(REAR EDGE j | KF
MOUNT
229.1 ACTIVE AREA ) | 75 100
| 2840 273.6 | . I {7
284.9 - (REAR EDGE i ° : Yx
EDGE OF TOUCHSCREEN MOUNT) o o gj
I = 00 I — I
D - g
‘}g % o 93.5
| |
§ ) z ji= z ‘ [ j
REAR EDGE MOUNT -
M4 THREADS, X8 346.7
MAX SCREW DEPTH = 6MM
358
VGA VIDEO IN
DISPLAYPORT IN
REMOTE OSD
DC POWER INPUT (INCLUDED)
—TOUCH USB OUT
f—o | .‘
AL 17.8, X2
(REAR EDGE MOUNT)
elo
MS601689
DIMENSIONS ARE IN MILLIMETERS SHEET 1 OF 6 DATE: 01/06/2016
REV: A




DIMENSIONAL DRAWING: ET1590L

PROJECTED CAPACITIVE MODEL

WITH FLUSH MOUNTING BRACKETS (4 SETS INCLUDED)
REPLACEMENT BRACKET KIT P/N E139556 AVAILABLE SEPARATELY

4.5 THRU, X8

M4 THREAD, X8 ﬁﬁ ADJUSTMENT RANGE = 3 TO 9MM
%{@ o J@f% A
7 N
325.6
gﬂﬂ Hﬂ% Z
O O
108, X4

O O X

© ©

= =

N i
oo i {
398.7 INSTALLATION NOTES:
1. ATTACH BRACKET "A" TO CUSTOMER PANEL (ALL FOUR SIDES) CUSTOMER PANEL (NOT INCLUDED)
WITH INCLUDED SCREWS MIN THICKNESS = 3MM
2. ATTACH BRACKET "B' TO TOUCHMONITOR (ALL FOUR SIDES) MAX THICKNESS = 12MM
3. PLACE TOUCHMONITOR INTO CUSTOMER PANEL OPENING,
- 1 TAKING CARE NOT TO DAMAGE FOAM SEAL
1 X | - N 4. ADJUST DEPTH OF BRACKETS "B" SO THE MONITOR IS
FLUSH WITH CUSTOMER PANEL
5. SECURE TOUCHMONITOR TO BRACKET "B" FROM BEHIND
311.6 96.7 RECOMMENDED CUSTOMER PANEL CUT-OUT WITH INCLUDED SCREWS
CHOOSE ONE:
288.6+0.4 | +| "A"=M4 THREADED HOLES OR M4 CONCEALED +
HEAD THREADED STUDS WITH NUTS
98 "B" ZF "B" = CLEARANCE HOLES FOR M4 SCREWS
78 "A"

L

R11.8 + 0.3 , X4

93.9
/ / /
| . o
L<] 78 "A" >‘
98 "B"
361.7+0.4
384.8

MS601689

SHEET 2 OF 6 DATE: 01/06/2016

DIMENSIONS ARE IN MILLIMETERS
REV: A




INTELLITOUCH, ACCUTOUCH, AND SECURETOUCH MODEL

304.1 ACTIVE AREA

228.1 ACTIVE AREA

264.4

336.4

DIMENSIONS ARE IN MILLIMETERS

DIMENSIONAL DRAWING: ET1590L

237
(CENTERING
LIP)

SEE DETAIL A
(CENTERING LIP)

41.9

7

25.3 (SIDE MOUNT)

U e
o]

116, X2

|

DETAIL A
(CENTERING LIP)
SCALE 2.000

SIDE MOUNT
(LEFT AND RIGHT)
M4 THREAD,

MAX SCREW DEPTH = 6MM, X2

SIDE MOUNT

(TOP AND BOTTOM)

M4 THREAD,

MAX SCREW DEPTH = 6MM, X2

VESA MOUNT
M4 THREAD,
MAX SCREW DEPTH = 7MM, X8

@H @ o o 79J.V7
| / |
©@ © & A
© O ZF
75 100
© © {7
° . i
e O) ZF
23 = 84.7
el e .
VGA VIDEO IN EI\E]?:ASJTgE%?D

DISPLAYPORT |

DC POWER INPUT

N

TOUCH USB OUT

SERIAL TOUCH OUT
(NOT AVAILABLE ON ALL MODELS)

3

—— 116, X2 —=

313
(CENTERING LIP)

M
.l
Zﬂ 25.3
(SIDE MOUNT)
elo
MS601689
SHEET 3 OF 6 DATE: 01/06/2016
REV: A




DIMENSIONAL DRAWING: ET1590L

INTELLITOUCH, ACCUTOUCH, AND SECURETOUCH MODEL

WITH SIDE MOUNTING BRACKETS (2 INCLUDED)
REPLACEMENT BRACKET KIT P/N E203787 AVAILABLE SEPARATELY

357 4 —— ADJUSTMENT RANGE =1.8 TO -14MM
X ©> 9) H
Dﬂ ® O ® ® O ® @ =
® ® ® ®
o O )) i) = © n
| O]
2 B N Eln 5
® ® O]
© ©
285.4
® ®
) © ©
@ O & 0 I — ) OO0 - o
O O ® ®
& ’\% | _] @ @
® ® ®© ®© BRACKET IN HORIZONTAL POSITION ] e . e
7 G us)\ | == S
BRACKET IN VERTICAL POSITION
CUSTOMER PANEL (NOT INCLUDED)
MIN THICKNESS = 1MM
MAX THICKNESS = 14MM
MOUNTING HOLES, X8
CUSTOMER PANEL MATERIAL:
1. WOOD: @ 4.5 HOLES THRU FOR M4 SCREWS WITH NUTS
X 2. SHEET METAL: CONCEALED HEAD THREADED STUDS M4 WITH NUTS
A
Z a
@
T " -
275.4
238+01 144 RECOMMENDED CUSTOMER PANEL CUT-OUT
R6+ 0.3 , X4
S i o
ot gy
x o)
y I8
-+ —+ i
Fi 144 4%
+1
314 0
347.4
glo
MS601689
DIMENSIONS ARE IN MILLIMETERS SHEET 4 OF 6 DATE: 01/06/2016
REV: A




DIMENSIONAL DRAWING: ET1590L

INTELLITOUCH, ACCUTOUCH, AND SECURETOUCH MODEL

FRONT MOUNT OPTION
P/N E323425 ORDERED SEPARATELY, CUSTOMER ASSEMBLED

396.4
(FOR BRACKETS IN
HORIZONTAL POSITION)
373.4 R7.3 , X4 —==—45
/ ] 5 * 5
e ~ = r == = A
"' N OF =i e 3 (4
@ @®
0 © ®
el @
O O
: © p
S S
— — 324.4 f -
(FOR BRACKETS IN
VERTICAL POSITION)
q i
O @ @ O
% T - 0] -
E i B i
m S===> == T
o % L L J
‘ ] O \\
5, X2
= FRONT MOUNT BRACKETS (2)
/ TOUCHMONIT = (INCLUDED WITH FRONT MOUNT ASSY.)
Z ] + +
| 4 /
R12 (MAX = 15), x4 FRONT MOUNT ASSY: - CUSTOMER PANEL (NOT INCLUDED)
. ; \ MAX THICKESS = 14MM
X + + g 0 —
\
284.4 RECOMMENDED CUSTOMER PANEL . 0 |®
313.4 116 CUT-OUT AND MOUNTING HOLES @H@
(FOR BRACKETS IN .
VERTICAL POSITION) ; d ; N
] + + o @
7 . y ’
X / + + o
@i@ ]
—— 116 —= ’
356.4 c
385.4 .
(FOR BRACKETS IN
HORIZONTAL POSITION) % EI n
MS601689
DIMENSIONS ARE IN MILLIMETERS SHEET 5 OF 6 DATE: 01/06/2016
REV: A




INTELLITOUCH, ACCUTOUCH, AND SECURETOUCH MODEL

RACK MOUNT OPTION

P/N E295006 ORDERED SEPARATELY, CUSTOMER ASSEMBLED

482.6 (19")

465

DIMENSIONAL DRAWING: ET1590L

S1=2)]
(=

e — 449

266

31.7

399

DIMENSIONS ARE IN MILLIMETERS

BLACK ANODIZE

SHEET 6 OF 6

MS601689

DATE: 01/06/2016

REV: A




	Sheet 1
	Views
	new_view_7
	right_8
	right_9
	bottom_10


	Sheet 2
	Views
	new_view_11
	right_12
	right_13
	new_view_14
	new_view_15
	new_view_25


	Sheet 3
	Views
	new_view_16
	right_17
	right_18
	bottom_19
	A


	Sheet 4
	Views
	new_view_20
	right_21
	right_22
	new_view_23
	new_view_24


	Sheet 5
	Views
	new_view_31
	right_32
	right_33
	new_view_34
	new_view_35


	Sheet 6
	Views
	new_view_36
	right_37
	right_38
	new_view_39



